CITY OF NAPLES, FLORIDA AGREEMENT (SERVICES)

Bid/Proposal No.

14-029

Clerk Tracking No.

14-00078

Project Name:

Potable Well Acidization, Well Abandonment &

Monitoring Well Construction

THIS AGREEMENT (the "Agreement") is made and entered into this 11th day of June, 2014, by and between the City of Naples, a Florida municipal corporation, (the "CITY") and A.C. Schultes of Florida, Incorporated, a Florida Profit Corporation, located at: 11865 Highway 41 South; Gibsontown, Florida 33534 (the "CONTRACTOR").

WITNESSETH:

WHEREAS, the CITY desires to obtain the services of the CONTRACTOR concerning certain services specified in this Agreement (referred to as the "Project"); and

WHEREAS, the CONTRACTOR has submitted an **(RFP) Request For Proposal No. 14-029** for provision of those services; and

WHEREAS, the CONTRACTOR represents that it has expertise in the type of services that will be required for the Project.

NOW, THEREFORE, in consideration of the mutual covenants and provisions contained herein, the parties hereto agree as follows:

ARTICLE ONE CONTRACTOR'S RESPONSIBILITY

- 1.1. The Services to be performed by CONTRACTOR are generally described as **Potable Well Acidization**, **Well Abandonment & Monitoring Well Construction** and may be more fully described in the Scope of Services, attached as **EXHIBIT A** and made a part of this Agreement.
- 1.2. The CONTRACTOR agrees to obtain and maintain throughout the period of this Agreement all such licenses as are required to do business in the State of Florida, the City of Naples, and in Collier County, Florida, including, but not limited to, all licenses required by the respective state boards and other governmental agencies responsible for regulating and licensing the services to be provided and performed by the CONTRACTOR pursuant to this Agreement.
- 1.3. The CONTRACTOR agrees that, when the services to be provided hereunder relate to a professional service which, under Florida Statutes, requires a license, certificate of authorization or other form of legal entitlement to practice such services, it shall employ or retain only qualified personnel to provide such services.
- 1.4. CONTRACTOR agrees to employ and designate, in writing, within 5 calendar days after

receiving its Notice to Proceed, or other directive from the CITY, a qualified employee to serve as the CONTRACTOR's project manager (the "Project Manager"). The Project Manager shall be authorized and responsible to act on behalf of the CONTRACTOR with respect to directing, coordinating and administering all aspects of the services to be provided and performed under this Agreement.

- 1.5. The CONTRACTOR has represented to the CITY that it has expertise in the type of services that will be required for the Project. The CONTRACTOR agrees that all services to be provided by CONTRACTOR pursuant to this Agreement shall be subject to the CITY's review and approval and shall be in accordance with the generally accepted standards of practice in the State of Florida, as may be applied to the type of services to be rendered, as well as in accordance with all published laws, statutes, ordinances, codes, rules, regulations and requirements of any governmental agencies which regulate or have jurisdiction over the Project or the services to be provided and performed by CONTRACTOR. In the event of any conflicts in these requirements, the CONTRACTOR shall notify the CITY of such conflict and utilize its best professional judgment to advise CITY regarding resolution of the conflict.
- 1.6. The CONTRACTOR agrees not to divulge, furnish or make available to any third person, firm or organization, without CITY's prior written consent, or unless incident to the proper performance of the CONTRACTOR's obligations hereunder, or in the course of judicial or legislative proceedings where such information has been properly subpoenaed, any non-public information concerning the services to be rendered by CONTRACTOR hereunder, and CONTRACTOR shall require all of its employees, agents, sub-consultants and subcontractors to comply with the provisions of this paragraph. However, the CONTRACTOR shall comply with the Florida Public Records laws.
- 1.7 The CONTRACTOR agrees not to employ or offer to employ any Elected Officer or City Managerial Employee of the CITY who in any way deals with, coordinates on, or assists with, the services provided in this Agreement, for a period of 2 years after termination of all provisions of this Agreement. For purposes of this paragraph, the term "Elected Officer" shall mean any member of the City Council. For purposes of this paragraph, the term "City Managerial Employee" shall mean the City Manager, the Assistant City Manager, the City Clerk, and any City department head or director. If the CONTRACTOR violates the provisions of this paragraph, the CONTRACTOR shall be required to pay damages to the CITY in an amount equal to any and all compensation which is received by the former Elected Officer or City Managerial Employee of the CITY from or on behalf of the contracting person or entity, or an amount equal to the former Elected Officer's or City Managerial Employee's last 2 years of gross compensation from the CITY, whichever is greater.
- 1.8 The CONTRACTOR agrees not to provide services for compensation to any other party other than the CITY on the same subject matter, same project, or scope of services as set forth in this Agreement without approval from the City Council of the CITY.
- 1.9. Except as otherwise provided in this Agreement, the CONTRACTOR agrees not to disclose or use any information not available to members of the general public and gained by reason of the CONTRACTOR's contractual relationship with the CITY for the special gain or benefit of the CONTRACTOR or for the special gain or benefit of any other person or entity.

ARTICLE TWO CITY'S RESPONSIBILITIES

2.1. The CITY shall designate in writing a project coordinator to act as the CITY's representative with respect to the services to be rendered under this Agreement (the "Project Coordinator"). The

Project Coordinator shall have authority to transmit instructions, receive information, interpret and define the CITY's policies and decisions with respect to the CONTRACTOR's services for the Project. However, the Project Coordinator is not authorized to issue any verbal or written orders or instructions to the CONTRACTOR that would have the effect, or be interpreted to have the effect, of modifying or changing in any way whatever:

- (a) The scope of services to be provided and performed by the CONTRACTOR;
- (b) The time the CONTRACTOR is obligated to commence and complete all such services; or
- (c) The amount of compensation the CITY is obligated or committed to pay the CONTRACTOR.

Any such modifications or changes ((a) (b) or (c)) shall only be made by or upon the authorization of the CITY's city manager as authorized by city council in the enabling legislation or in the CITY's procurement policies.

- 2.2. The Project Coordinator shall:
 - (a) Review and make appropriate recommendations on all requests submitted by the CONTRACTOR for payment for services and work provided and performed in accordance with this Agreement;
 - (b) Arrange for access to and make all provisions for the CONTRACTOR to enter the Project site to perform the services to be provided by the CONTRACTOR under this Agreement; and
 - (c) Provide notice to the CONTRACTOR of any deficiencies or defects discovered by the CITY with respect to the services to be rendered by the CONTRACTOR hereunder.
- 2.3. The CONTRACTOR acknowledges that access to the Project Site, to be arranged by the CITY for the CONTRACTOR, may be provided during times that are not the normal business hours of the CONTRACTOR.

ARTICLE THREE TIME

- 3.1. Services to be rendered by the CONTRACTOR shall be commenced subsequent to the execution of this Agreement upon written Notice to Proceed from the CITY for all or any designated portion of the Project and shall be performed through **September 30, 2017 with the CITY and CONTRACTOR'S mutual acceptance to renew this Agreement for two (2) additional one-year periods.** Time is of the essence with respect to the performance of this Agreement.
- 3.2. Should the CONTRACTOR be obstructed or delayed in the prosecution or completion of its services as a result of unforeseeable causes beyond the control of the CONTRACTOR, and not due to its own fault or neglect, including but not restricted to acts of God or of public enemy, acts of government or of the CITY, fires, floods, epidemics, quarantine regulations, strikes or lock-outs, then the CONTRACTOR shall notify the CITY in writing within 5 working days after commencement of such delay, stating the cause or causes thereof, or be deemed to have waived any right which the

CONTRACTOR may have had to request a time extension.

- 3.3. No interruption, interference, inefficiency, suspension or delay in the commencement or progress of the CONTRACTOR's services from any cause whatsoever, including those for which the CITY may be responsible in whole or in part, shall relieve the CONTRACTOR of its duty to perform or give rise to any right to damages or additional compensation from the CITY. The CONTRACTOR's sole remedy against the CITY will be the right to seek an extension of time to its schedule. This paragraph shall expressly apply to claims for early completion, as well as claims based on late completion.
- 3.4. Should the CONTRACTOR fail to commence, provide, perform or complete any of the services to be provided hereunder in a timely and reasonable manner, in addition to any other rights or remedies available to the CITY hereunder, the CITY at its sole discretion and option may withhold any and all payments due and owing to the CONTRACTOR until such time as the CONTRACTOR resumes performance of its obligations hereunder in such a manner so as to reasonably establish to the CITY's satisfaction that the CONTRACTOR's performance is or will shortly be back on schedule.
- 3.5 Liquidated Damages: It is the City's intent that liquidated damages may be established based on the project. By submitting a bid response, the contractor acknowledged that the City reserves the right to establish liquidated damages criteria on <u>work order requests</u>.
- 3.6 Bond. A Payment & Performance Bond will be required on any work order request that exceeds \$125,000 with a surety insurer authorized to do business in this state as surety (check) one has been recorded in the public records of the County, prior to commencement of work, will be recorded in the public records of the County, or is waived.

ARTICLE FOUR COMPENSATION

4.1. The total compensation to be paid the CONTRACTOR by the CITY for all work order request and their indicated Services shall not exceed a Department's allocated Fiscal Year funding and shall be paid in the manner set forth in the "Basis of Compensation", which is attached as **EXHIBIT B** and made a part of this Agreement.

ARTICLE FIVE MAINTENANCE OF RECORDS

5.1. The CONTRACTOR will keep adequate records and supporting documentation which concern or reflect its services hereunder. The records and documentation will be retained by the CONTRACTOR for a minimum of five 5 years from the date of termination of this Agreement or the date the Project is completed, whichever is later. The CITY, or any duly authorized agents or representatives of the CITY, shall have the right to audit, inspect and copy all such records and documentation as often as they deem necessary during the period of this Agreement and during the 5 year period noted above; provided, however, such activity shall be conducted only during normal business hours. If the CONTRACTOR desires to destroy records prior to the minimum period, it shall first obtain permission from the CITY in accordance with the Florida Public Records laws.

ARTICLE SIX INDEMNIFICATION

6.1. The CONTRACTOR agrees to indemnify and hold harmless the City from liabilities, damages, losses and costs, including, but not limited to, reasonable attorneys' fees, to the extent caused by the negligence, recklessness, or intentional wrongful misconduct of the CONTRACTOR and persons employer or utilized by the CONTRACTOR in the performance of the Contract.

ARTICLE SEVEN INSURANCE

7.1. CONTRACTOR shall obtain and carry, at all times during its performance under this Agreement, insurance of the types and in the amounts set forth in the document titled General Insurance Requirements, which is attached as **EXHIBIT C** and made a part of this Agreement.

ARTICLE EIGHT SERVICES BY CONTRACTOR'S OWN STAFF

8.1. The services to be performed hereunder shall be performed by the CONTRACTOR's own staff, unless otherwise authorized in writing by the CITY. The employment of, contract with, or use of the services of any other person or firm by the CONTRACTOR, as independent contractor or otherwise, shall be subject to the prior written approval of the CITY. No provision of this Agreement shall, however, be construed as constituting an agreement between the CITY and any such other person or firm. Nor shall anything contained in this Agreement be deemed to give any such party or any third party any claim or right of action against the CITY beyond such as may otherwise exist without regard to this Agreement.

ARTICLE NINE WAIVER OF CLAIMS

9.1. The CONTRACTOR's acceptance of final payment shall constitute a full waiver of any and all claims, except for insurance company subrogation claims, by it against the CITY arising out of this Agreement or otherwise related to the Project, except those previously made in writing and identified by the CONTRACTOR as unsettled at the time of the final payment. Neither the acceptance of the CONTRACTOR's services nor payment by the CITY shall be deemed to be a waiver of any of the CITY's rights against the CONTRACTOR.

ARTICLE TEN TERMINATION OR SUSPENSION

- 10.1. The CONTRACTOR shall be considered in material default of this Agreement and such default will be considered cause for the CITY to terminate this Agreement, in whole or in part, as further set forth in this section, for any of the following reasons: (a) failure to begin work under the Agreement within the times specified under the Notice(s) to Proceed, or (b) failure to properly and timely perform the services to be provided hereunder or as directed by the CITY, or (c) the bankruptcy or insolvency or a general assignment for the benefit of creditors by the CONTRACTOR or by any of the CONTRACTOR's principals, officers or directors, or (d) failure to obey laws, ordinances, regulations or other codes of conduct, or (e) failure to perform or abide by the terms or spirit of this Agreement, or (f) for any other just cause. The CITY may so terminate this Agreement, in whole or in part, by giving the CONTRACTOR at least 3 calendar days' written notice.
- 10.2. If, after notice of termination of this Agreement as provided for in paragraph 10.1 above, it is

determined for any reason that the CONTRACTOR was not in default, or that its default was excusable, or that the CITY otherwise was not entitled to the remedy against the CONTRACTOR provided for in paragraph 10.1, then the notice of termination given pursuant to paragraph 10.1 shall be deemed to be the notice of termination provided for in paragraph 10.3 below and the CONTRACTOR's remedies against the CITY shall be the same as and limited to those afforded the CONTRACTOR under paragraph 10.3 below.

10.3. The CITY shall have the right to terminate this Agreement, in whole or in part, without cause upon 7 calendar day's written notice to the CONTRACTOR. In the event of such termination for convenience, the CONTRACTOR's recovery against the CITY shall be limited to that portion of the fee earned through the date of termination, together with any retainage withheld and any costs reasonably incurred by the CONTRACTOR that are directly attributable to the termination, but the CONTRACTOR shall not be entitled to any other or further recovery against the CITY, including, but not limited to, anticipated fees or profits on work not required to be performed.

ARTICLE ELEVEN CONFLICT OF INTEREST

11.1. The CONTRACTOR represents that it presently has no interest and shall acquire no interest, either direct or indirect, which would conflict in any manner with the performance of services required hereunder. The CONTRACTOR further represents that no persons having any such interest shall be employed to perform those services.

ARTICLE TWELVE MODIFICATION

12.1. No modification or change in this Agreement shall be valid or binding upon the parties unless in writing and executed by the party or parties intended to be bound by it.

ARTICLE THIRTEEN NOTICES AND ADDRESS OF RECORD

13.1. All notices required or made pursuant to this Agreement to be given by the CONTRACTOR to the CITY shall be in writing and shall be delivered by hand or by United States Postal Service Department, first class mail service, postage prepaid, return receipt requested, addressed to the following CITY's address of record:

City of Naples
735 Eighth Street South
Naples, Florida 34102-3796
Attention: A. William Moss, City Manager

13.2. All notices required or made pursuant to this Agreement to be given by the CITY to the CONTRACTOR shall be made in writing and shall be delivered by hand or by the United States Postal Service Department, first class mail service, postage prepaid, return receipt requested, addressed to the following CONTRACTOR's address of record:

A.C. Schultes of Florida, Incorporated 11865 Highway 41 South; Gibsontown, Florida 33534 Attention: **Gregory Schultes,** Vice President FEI/EIN Number: 14-1871186 (State: FL) 13.3. Either party may change its address of record by written notice to the other party given in accordance with requirements of this Article.

ARTICLE FOURTEEN MISCELLANEOUS

- 14.1. The CONTRACTOR, in representing the CITY, shall promote the best interest of the CITY and assume towards the CITY a duty of the highest trust, confidence, and fair dealing.
- 14.2. No modification, waiver, suspension or termination of the Agreement or of any terms thereof shall impair the rights or liabilities of either party.
- 14.3. This Agreement is not assignable, in whole or in part, by the CONTRACTOR without the prior written consent of the CITY.
- 14.4. Waiver by either party of a breach of any provision of this Agreement shall not be deemed to be a waiver of any other breach and shall not be construed to be a modification of the terms of this Agreement.
- 14.5. The headings of the Articles, Exhibits, Parts and Attachments as contained in this Agreement are for the purpose of convenience only and shall not be deemed to expand, limit or change the provisions in such Articles, Exhibits, Parts and Attachments.
- 14.6. This Agreement constitutes the entire agreement between the parties hereto and shall supersede, replace and nullify any and all prior agreements or understandings, written or oral, relating to the matter set forth herein, and any such prior agreements or understanding shall have no force or effect whatever on this Agreement.
- 14.7. The CONTRACTOR shall comply fully with all provisions of state and federal law, including without limitation all provisions of the Immigration Reform and Control Act of 1986 ("IRCA") as amended, as well as all related immigration laws, rules, and regulations pertaining to proper employee work authorization in the United States. The CONTRACTOR shall execute the Certification of Compliance with Immigration Laws, attached hereto as **EXHIBIT D.**
- 14.8 To the extent that any provision in the Specifications or any other Contract Documents pertaining to this Project conflict with any provision of this Agreement, this Agreement controls.

ARTICLE FIFTEEN APPLICABLE LAW

15.1. Unless otherwise specified, this Agreement shall be governed by the laws, rules, and regulations of the State of Florida, and by the laws, rules and regulations of the United States when providing services funded by the United States government. Any suit or action brought by either party to this Agreement against the other party relating to or arising out of this Agreement must be brought in the appropriate Florida state court in Collier County, Florida.

IN WITNESS WHEREOF, the parties hereto have executed this Agreement for the day and year first written above.

275 X 1 11 2 2 2 2	
ATTEST:	CITY:
By: Justicia L. Rambosk, City Clerk	CITY OF NAPLES, FLORIDA, A Municipal Corporation By: A. William Moss, City Manager
Approved as to form and legal sufficiency:	
By: Robert D. Pritt, City Attorney	
	CONTRACTOR:
Mon Mc Dowell Printed Witness Name	A.C. Schultes of Florida, Incorporated 11865 Highway 41 South Gibsontown, Florida 33534 Attention: Gregory Schultes, Vice President FEI/EIN Number: 14-1871186 A Florida Profit Corporation By: Its: Vice President
	(CORPORATE SEAL)

Services Contract (not Architects/Engineers)

EXHIBIT A

SCOPE OF SERVICES

The Scope of Services to be provided under this Agreement are included in Exhibit A-1 which
is attached and made a part of this Agreement and those set out in the Vendor's Submittal of
(ITB) Invitation To Bid No.14-029, titled Potable Well Acidization, Well Abandonment &
Monitoring Well Construction herein referenced and made a part of this Agreement.

END OF EXHIBIT A	
------------------	--

20129093-002 City of Naples

SECTION 01010

SUMMARY OF WORK

PART 1 GENERAL

- 1.1 SECTION INCLUDES
 - A. Description of Work
 - B. Constraints
 - C. Work by Others
 - D. CONTRACTOR's Use of Site
 - E. Work Sequence
 - F. Owner Occupancy

1.2 DESCRIPTION OF WORK

A. General: The Work to be done under this Contract consists of the acidization of potable water production wells, video logging of rehabilitated production wells, video and geophysical logging monitoring wells, plug and abandoning monitoring wells and construction monitoring wells consisting of some or all of the following:

> Pre and post-acidization step-drawdown test Well acidization Successful Bacteriological Survey Analysis Video and geophysical logs Plug and Abandonment of monitoring wells Construction of monitoring wells

as shown and specified in Contract Documents.

B. The Work includes:

- Furnishing of all labor, material, superintendence, plant, power, light, heat, fuel, water, tools, appliances, equipment, supplies, services and other means of construction necessary or proper for performing and completing the Work.
- 2. Sole responsibility for adequacy of wells and equipment.

final: 02/18/2014

20129093-002 City of Naples

- 3. Maintaining the Work area and site in a clean and acceptable manner.
- 4. Maintaining existing facilities in service at all times except where specifically provided for otherwise herein.
- Protection of finished and unfinished Work.
- 6. Repair and restoration of Work damaged during construction.
- 7. Furnishing as necessary proper equipment and machinery, of a sufficient capacity, to facilitate the Work and to handle all emergencies normally encountered in Work of this character.
- 8. Furnishing, installing, and protecting all necessary guides, track rails, bearing plates, anchor and attachment bolts, and all other appurtenances needed for the installation of the devices included in the equipment specified. Make anchor bolts of appropriate size, strength and material for the purpose intended. Furnish substantial templates and shop drawings for installation.
- 9. Storing OWNER's equipment.
- C. Implied and Normally Required Work: It is the intent of these Specifications to provide the OWNER with complete operable systems, subsystems and other items of Work. Any part or item of Work which is reasonably implied or normally required to make each installation satisfactorily and completely operable is deemed to be included in the Work and the Contract Amount. All miscellaneous appurtenances and other items of Work incidental to meeting the intent of these Specifications are included in the Work and the Contract Amount even though these appurtenances may not be specifically called for in these Specifications.
- D. Quality of Work: Regard the apparent silence of the Contract Documents as to any detail, or the apparent omission from them of a detailed description concerning any Work to be done and materials to be furnished as meaning that only the best general practice is to prevail and that only materials and workmanship of the best quality are to be used. Interpretation of these specifications will be made upon this basis.

1.3 CONTRACTOR'S USE OF SITE

A. In addition to the requirements of the General Conditions, limit use of site and premises for work and storage to allow for the following:

final: 02/18/2014

20129093-002 City of Naples

- Coordination of the Work under this CONTRACT with the work of the other contractors where Work under this CONTRACT encroaches on the Work of other contractors.
- OWNER occupancy and access to operate existing facilities.
- Coordination of site use with ENGINEER.
- 4. Responsibility for protection and safekeeping of products under this CONTRACT.
- 5. Providing additional off site storage at no additional cost to OWNER as needed.

1.4 WORK SEQUENCE

A. Construct Work in stages to accommodate OWNER's use of premises during construction period and in accordance with the limitations on the sequence of construction specified. Coordinate construction schedules and operations with ENGINEER.

The contractor shall perform the work such that a maximum of three wells are out of service at any one time. Well rehabilitation will be at the determination of the OWNER and the specific work at each well will consist of the following:

- 1. Submit detailed schedule.
- 2. Video and photo archive existing well site condition.
- 3. Remove existing pump, drop pipe, wire, equipment, etc and store.
- 4. Perform video log as decided by ENGINEER.
- 5. Install test pump and perform step-drawdown test.
- 6. Acidize well per appropriate specification as decided by ENGINEER.
- 7. Air develop well.
- 8. Develop well by over pumping.
- 9. Perform step-drawdown test.
- 10. Perform video log.
- 11. Install permanent pump.
- 12. Disinfect the well.
- 13. Complete bacteriological clearance of the well.

The contractor shall perform video and geophysical logging of well at the determination of the OWNER and the specific work at each well will consist of the following:

- Mobilizing and prepare site.
- Perform video and/or geophysical logging of 2 to 16-inch diameter well.
- 3. Demobilize site.

20129093-002 City of Naples

The contractor shall plug and abandon monitoring well at the determination of the OWNER and the specific work at each well will consist of the following:

- 1. Mobilizing and prepare site.
- 2. Plug and Abandon 2 to 4-inch diameter well less than 200 feet.
- 3. Demobilize site.

The contractor shall construct monitoring well at the determination of the OWNER and the specific work at each well will consist of the following:

- 1. Mobilizing and prepare site.
- 2. Drill to 300 feet BLS, collecting lithologic and water quality samples.
- 3. Perform video and geophysical logging.
- 4. Construct 4-inch monitoring well to 200 feet BLS.
- 5. Demobilize site
- B. Coordinate Work of all subcontractors.

1.5 OWNER OCCUPANCY

- A. OWNER will occupy premises during entire period of construction in order to maintain normal operations. Cooperate with OWNER's representative in all construction operations to minimize conflict, and to facilitate OWNER usage.
- B. Conduct operations so as to inconvenience the general public in the least.

1.6 LIST OF DRAWINGS

The drawings listed below, following "END OF SECTION," are a part of this Specification.

FIGURE # TITLE

- 1 Groundwater Rule Compliance- Golden Gate Wellfield
- 2 Groundwater Rule Compliance- Coastal Ridge Wellfield
- 3 Typical Monitoring Well
- 4 Temporary Wellhead

Table # TITLE

- 1 Golden Gate Wellfield- Well Locations & Well Specifications
- 2 Coastal Ridge Wellfield- Well Locations & Well Specifications

final: 02/18/2014

20129093-002 City of Naples

PART 2 PRODUCTS

Not Used.

PART 3 EXECUTION

A. Starting Work: Start Work within 10 days following the date stated in the Notice to Proceed and execute with such progress as may be required to prevent delay to other contractors or to the general completion of the project. Execute Work at such items and in or on such parts of the project, and with such forces, material and equipment, as to complete the Work in the time established by the Contract. At all times, schedule and direct the Work so that it provides an orderly progression to completion within the specified time for completion.

END OF SECTION

final: 02/18/2014

EXHIBIT B

BASIS OF COMPENSATION

As consideration for providing the Services as set forth in the Agreement, the CITY agrees to pay, and the CONTRACTOR agrees to accept payment on a time and reimbursement cost basis as indicated in Exhibit B-1, which is attached and made part of this Agreement.

Retainage: Not applicable to this Agreement.

END OF EXHIBIT B

EXHIBIT A

Part A-E: Coastal Ridge Wellfield

No.	Description	Quantity	Unit	Unit Price	Total
	Rehab Well at Water Treatment Plant				
PART A	(CR 301A)				
A - 1	Mobilization and Preparation	1	LS	\$ 13,000.00	\$ 12,700.00
A - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
A - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
A - 4	Install Temporary Pump	2	EA	\$3,200.00	\$6,400.00
A - 5	Install Temporary Piping, Throttling Device, Flow Meter, etc.	2	EA	\$2,500.00	\$5,000.00
A - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
A - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
A - 9	Stand By	4	Hours	\$120.00	\$480.00
	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART A SUBTOTAL				\$46,280.00

	Rehab Well Near Golf Course (CR 302				
PART B	or 303)	Quantity	Unit	Unit Price	Total
B - 1	Mobilization and Preparation	1	LS	\$ 13,000.00	\$ 12,700.00
B - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
B - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
B - 4	Install Temporary Pump	2	LS	\$3,200.00	\$6,400.00
B - 5	Install Temporary Piping, Throttling Device, Flow Meter, etc.	2	LS	\$2,500.00	\$5,000.00
B - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
B - 7	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
B - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
B - 9	Stand By	4	Hours	\$120.00	\$480.00
B - 10	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART B SUBTOTAL				\$46,280.00

	Rehab Well Near FPL Power Lines				
PART C	(CR 317, 318, 319 or 320)	Quantity	<u>Unit</u>	<u>Unit Price</u>	<u>Total</u>
C - 1	Mobilization and Preparation	1	LS	\$ 13,000.00	\$ 12,700.00
C - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
C - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
C - 4	Install Temporary Pump	2	LS	\$3,200.00	\$6,400.00
C - 5	Install Temporary Piping, Throttling Device, Flow Meter, etc.	2	LS	\$2,500.00	\$5,000.00
C - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
C - 7	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
C - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
C - 9	Stand By	4	Hours	\$120.00	\$480.00
C - 10	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART C SUBTOTAL				\$46,280.00

	Rehab Well In Road Median (CR 301,	1			
PART D	304, 305, 306, 306-A or 309-A)	Quantity	<u>Unit</u>	Unit Price	<u>Total</u>
D - 1	Mobilization and Preparation	1	LS	30,400.00	30,400.00
D - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
D - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
D - 4	Install Temporary Pump	2	LS	\$3,200.00	\$6,400.00
D - 5	Install Temporary Piping, Throttling Device, Flow Meter, etc.	2	LS	\$2,500.00	\$5,000.00
D - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
D - 7	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
D - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
D - 9	Stand By	4	Hours	\$120.00	\$480.00
D - 10	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART D SUBTOTAL				\$63,680.00

	Rehab Well With No Limitations (CR				
\	300-2A, 300-6A, 307, 308, 309, 310,				
	311, 312, 313, 314, 315, 316, 321, 322,		5		
PART E	323, 324, 327 or 328)	Quantity	Unit	Unit Price	Total
E - 1	Mobilization and Preparation	1	LS	\$ 13,000.00	\$ 12,700.00
E - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
E - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
E - 4	Install Temporary Pump	冬 2	LS	\$3,200.00	\$6,400.00
E - 5	Install Temporary Piping, Throttling Device,	2	1.0	60 500 00	65 000 00
	Flow Meter, etc.	2	LS	\$2,500.00	\$5,000.00
E - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
E - 7	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
E - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
E - 9	Stand By	4	Hours	\$120.00	\$480.00
E - 10	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART E SUBTOTAL				\$46,280.00

Parts F & G: Golden Gate Wellfield

No.	Description	Quantity	Unit	Unit Price	<u>Total</u>
	Rehab Well In Steel Buildings (GG 401-		0		
PART F	419 or 421)				
F - 1	Mobilization and Preparation	1	LS	\$19,050.00	\$19,050.00
F - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
F - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
F - 4	Install Temporary Pump	2	LS	\$3,200.00	\$6,400.00
F - 5	Install Temporary Piping, Throttling Device,	2	LS	\$2,500.00	\$5,000.00
F-5	Flow Meter, etc.		מו	\$2,500.00	\$5,000.00
F - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
F - 7	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
F - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
F - 9	Stand By	4	Hours	\$120.00	\$480.00
F - 10	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART F SUBTOTAL				\$52,780.00

	Rehab Well In Structured Buildings (GG			[
PART G	420, 423, 424 or 425)	Quantity	Unit	Unit Price	Total
G - 1	Mobilization and Preparation	1	LS	\$19,050.00	\$19,050.00
G - 2	Furnish and Emplace Strong Acid	1	LS	\$16,500.00	\$16,500.00
G - 3	Air Develop Well Clean From Solids	4	Hours	\$120.00	\$480.00
G - 4	Install Temporary Pump	2	LS	\$3,200.00	\$6,400.00
G - 5	Install Temporary Piping, Throttling Device, Flow Meter, etc.	2	LS	\$2,500.00	\$5,000.00
G - 6	Develop Well by Over Pumping	4	Hours	\$120.00	\$480.00
G - 7	Perform 4 Hour Step-Drawdown Test	8	Hours	\$120.00	\$960.00
G - 8	Video Log Well (DVD Format)	1	LS	\$2,500.00	\$2,500.00
G - 9	Stand By	4	Hours	\$120.00	\$480.00
G - 10	Assist Engineer	4	Hours	\$120.00	\$480.00
	PART G SUBTOTAL				\$52,780.0

PART E	Video Log of 2-Inch Monitoring Well	Quantity	Unit	Unit Price	Total
H - 1	Mobilization and Preparation	1	LS	\$6,000.00	\$6,000.00
H - 1	1 2-Inch Video Log (DVD Format)	1	LS	\$1,500.00	\$1,500.00
	PART H SUBTOTAL				\$7,500.00

PART I	Video Log of 4- to 16-Inch Well	Quantity	Unit	Unit Price	Total
I - 1	Mobilization and Preparation	1	LS	\$6,000.00	\$6,000.00
1 - 12	4-Inch to 16-inch Video Log (DVD Format)	1	LS	\$2,500.00	\$2,500.00
	PART I SUBTOTAL				\$8,500.00

PART J	Geophysical logging of 4-inch to 16-inch Well	Quantity	<u>Unit</u>	Unit Price	Total
J - 1	Mobilization and Preparation	1	LS	\$6,000.00	\$6,000.00
J - 13	Static and Dynamic Geophysical Logs	1	LS	\$1,500.00	\$1,500.00
	PART J SUBTOTAL				\$7,500.00

	Plug & Abandon 2" x 30' Monitoring Well	Quantity	Unit	Unit Price	Total
K - 1	Mobilization and Preparation	1	LS	\$4,500.00	\$4,500.00
K - 14	2-Inch Well Casing 0 to 30 Feet Deep	2	Sacks	\$7.00	\$14.00
	PART K SUBTOTAL				\$6,014.00

PART L	Plug & Abandon 2" x 150' Monitoring Well	Quantity	Unit	Unit Price	Total
L - 1	Mobilization and Preparation	1	LS	\$4,500.00	\$4,500.00
L - 15	2-Inch Well Casing 31 to 150 Feet Deep	4	Sacks	\$7.00	\$28.00
	PART L SUBTOTAL				\$6,028.00

PART M	Plug & Abandon 4" x 40' Monitoring Well	Quantity	<u>Unit</u>	Unit Price	Total
M - 1	Mobilization and Preparation	1	LS	\$4,500.00	\$4,500.00
M - 16	4-Inch Well Casing 0 to 20 Feet Deep	4	Sacks	\$7.00	\$28.00
	PART M SUBTOTAL				\$6,028.00

	Plug & Abandon 4" x 200' Monitoring Well	Quantity	Unit	Unit Price	Total
N - 1	Mobilization and Preparation	1	LS	\$4,500.00	\$4,500.00
N - 17	4-Inch Well Casing 41 to 200 Feet Deep	15	Sacks	\$7.00	\$105.00
	PART N SUBTOTAL				\$6,105.00

PART O	Construct Monitoring Well	Quantity	Unit	Unit Price	Total
O - 18	Mobilization, Preparation, Permitting	1	LS	\$12,200.00	\$12,200.00
O - 19	Drill 7 7/8-inch Pilot Hole and Collect Samples	50	FT	\$225.00	\$11,250.00
O - 20	Ream Pilot Hole to 12-inch	50	FT	\$250.00	\$12,500.00
O - 21	Furnish and Install 8-inch Schedule 40 PVC Casing	50	FT	\$100.00	\$5,000.00
O - 22	Cement 8-Inch Casing to Surface with 100% Neat Cement	25	Sacks	\$9.00	\$225.00
O - 23	Drill 7 7/8 inch Hole Using Reverse or Direct Air, Collect Water Samples Every 20 feet and Run Flow Tests Every 20 feet		FT	\$225.00	\$56,250.00
O - 24	Perform Geophysical Logs, (Static and Dynamic)	1	LS	\$2,500.00	\$2,500.00
O - 25	Video Log Well (DVD Format)	1	LS	\$1,500.00	\$1,500.00
O - 26	Backplug Well 100 Feet with 100% Neat Cement	35	Sacks	\$9.00	\$315.00
O - 27	Furnish and Install 4-Inch Schedule 40 PVC Casing with 10 Feet of 0.020-Inch Slotted Well Screen and Five Feet Sump		FT	\$100.00	\$20,000.00
O 28	Place Pea Gravel & 2 Feet of Silica Sand Around Well Annulus	20	FT	\$50.00	\$1,000.00
O 29	Cement 4-inch Casing to Surface with 100% Neat Cement	40	Sacks	\$9.00	\$360.00
O - 30	Air Develop Well Clean of Solids	4	Hours	\$120.00	\$480.00
0 - 9	Stand By	8	Hours	\$120.00	\$960.00
O - 10	Assist Engineer	8	Hours	\$120.00	\$960.00
O - 31	Protective Bollards	1	LS	\$10,000.00	\$10,000.00
	PART O SUBTOTAL				\$135,500.00

PART A SUBTOTAL	\$46,280.00
PART B SUBTOTAL	\$46,280.00
PART C SUBTOTAL	\$46,280.00
PART D SUBTOTAL	\$63,680.00
PART E SUBTOTAL	\$46,280.00
PART F SUBTOTAL	\$52,780.00
PART G SUBTOTAL	\$52,780.00
PART H SUBTOTAL	\$7,500.00
PART I SUBTOTAL	\$7,500.00
PART J SUBTOTAL	\$8,500.00
PART K SUBTOTAL	\$6,014.00
PART L SUBTOTAL	\$6,028.00
PART M SUBTOTAL	\$6,028.00
PART N SUBTOTAL	\$8,105.00
PART N SUBTOTAL	Double Part N
PART O SUBTOTAL	\$135,500.00
GRAND TOTAL	\$538,135.00

CONTRACTOR PRICING PROPOSAL

This sheet provides additional items that may be listed as an example of the recommended format for submitting pricing. This sheet is an example for information that could be provided on the requested pricing proposal. Proposers must submit this sheet for evaluation purposes; <u>vendors may submit additional price information</u>.

LABOR	HOURLY RATE	DAILY RATE	PLEASE LIST AVAILABLE NUMBER OF EACH POSITION
Project Manager (includes truck)	\$125.00	\$1,250.00	
Field Superintendent	\$125.00	\$1,250.00	
Driller	\$100.00	\$1,000.00	
Laborer/Assistant	\$75.00	\$750.00	ı
Pump Technician	\$100.00	\$1,000.00	
Truck Driver/ Crane Operator	\$85.00	\$850.00	
OTHER LABOR LISTED HERE:			
1)			
2)			
3)			
4)			
EQUIPMENT (Or Similar Type)	HOURLY RATE	DAILY RATE	IF SIMILAR, PLEASE SPECIFY TYPE
Drill Rig (capable of up to 12" x 200')	\$200.00	\$2,000.00	
Pump Hoist/Smeal	\$150.00	\$1,500.00	
Crane/Boom Truck	\$150.00	\$1,500.00	
Service Vehicle	\$75.00	\$750.00	
Tractor Trailer/Londer/Backhoe	\$50.00	\$500.00	
Air Compressor	\$35.00	\$350.00	
Vacuum Truck/Tanker	\$100.00	\$1,000.00	
Test/Discharge Pump	\$75.00	\$750.00	
	Fg.		
OTHER EQUIPMENT LISTED HERE:			
1)			
2)			
3)			
4)			
CONTRACTOR MARK-UP ON SUPPLIES AND MATERIALS%	RATE (%)	12 %	



A.C. Schultes of Florida, Inc.

* interments it county assessment in their

City of Naples 735 8th Street South Naples, FL. 34102

RE: Project to be determined

ONE YEAR LIMITED WARRANTY

A.C. Schultes of Florida, Inc. will warranty all material and workmanship for a period of one (1) year from the date of Substantial completion. However, warranty will not cover normal maintenance to the equipment or damage caused by improper operations, and will be subject to all limits imposed by the manufacturer.

SUBSTANTIAL COMPLETION DATE: XX-XX-XXXX

Signature:	
	Gregory Schultes, Vice President A.C. Schultes of Florida, Inc.
Subscribed and sworn before me this \underline{XX} day of \underline{XXX} ,	2014
Notary Public, State of Florida at Large My commission expires: 4/8/17	F _F
, commedia or process	Kevin McDowell
(SEAL)	

EXHIBIT C

GENERAL INSURANCE REQUIREMENTS

The Contractor shall not commence work until he has obtained all the insurance required under this heading, and until such insurance has been approved by the Owner, nor shall the Contractor allow any subcontractor to commence work until all similar insurance required of the subcontractor has also been obtained and approved by the Owner.

Certificates of insurance must be issued by an authorized representative of the insurance company at the request and direction of the policyholder and must include sufficient information so as to identify the coverage and the contract for Owner's improvements for which they are issued. Certificates of insurance must be issued by a nationally recognized insurance company with a Best's Rating of no less than B+VII, satisfactory to the Owner, and duly licensed to do business in the state of said Contract.

The Contractor shall procure and maintain, during the life of this Contract, Workmen's Compensation Insurance for all of his employees to be engaged in work under this Contract, and he shall require any subcontractor similarly to provide Workmen's Compensation Insurance for all of the latter's employees to be engaged in such work, unless such employees are covered by the protection afforded by the Contractor's insurance. In case any employees are to be engaged in hazardous work under this Contract, and are not protected under this Workmen's Compensation statute, the Contractor shall provide, and shall cause each subcontractor to provide, adequate coverage for the protection of such employees. It is acceptable to use a State-approved Workmen's Compensation Self-Insurance fund.

The Contractor shall take out and maintain during the life of this Contract, Public Liability and Property Damage and shall include Contractual Liability, Personal Injury, Libel, Slander, False Arrest, Malicious Prosecution, Wrongful Entry or Eviction, Broad Form Property Damage, Products, Completed Operations and XCU Coverage to be included on an occurrence basis, and to the full extent of the Contract to protect him, the Owner, and any subcontractor performing work covered by this Contract from damages for personal injury, including accidental death, as well as from claims for property damage, which may arise from operations under this contract, whether such operations be by himself or by a subcontractor, or by anyone directly or indirectly employed by either of them. The Contractor shall also maintain automobile liability insurance including "non-owned and hired" coverage. The entire cost of this insurance shall be borne by the Contractor.

The amount of such insurance shall be no less than \$1,000,000 annual aggregate for bodily injury and property damage combined per occurrence.

The City of Naples must be named as Additional Insured on the insurance certificate <u>and the following must also be stated on the certificate</u>. "These coverage's are primary to all other coverage's the City possesses for this contract only." The City of Naples shall be named as the Certificate Holder. The Certificate Holder shall read as follows:

The City of Naples 735 Eighth Street South Naples, Florida 34102

No City Division, Department, or individual name should appear on the Certificate.

No other format will be acceptable.

The Certificate must state the bid number and title.

When using the ACORD 25 - Certificate of Insurance only the most current version will be accepted.

The City of Naples requires a copy of a cancellation notice in the event the policy is cancelled. The City of Naples shall be expressly endorsed onto the policy as a cancellation notice recipient.

Ilf other insurance or insurance requirements or any waivers, attach as Exhibit C-1through C-

EXHIBIT D

CERTIFICATION OF COMPLIANCE WITH IMMIGRATION LAWS

The undersigned is the **Vice President of the A.C. Schultes of Florida, Incorporated** company ("the CONTRACTOR"), and hereby certifies to the following:

- 1. The CONTRACTOR is in full compliance with all provisions of the Immigration Reform and Control Act of 1986 ("IRCA"), as well as all related immigration laws, rules, regulations pertaining to proper employee work authorization in the United States.
- 2. The undersigned has verified that the CONTRACTOR has obtained and maintains on file, and will continue to obtain and maintain on file, all documentation required by law, including but not limited to, Form I-9, Employment Eligibility Verification, for all persons employed by or working for the CONTRACTOR in any capacity on any project for the City of Naples (CITY). All such persons have provided evidence of identity and eligibility to work to the CONTRACTOR in accordance with the IRCA and related law. The undersigned hereby affirms that no person has been or will be employed by the CONTRACTOR to work on projects for the CITY who is not authorized to work under law. The undersigned further affirms that the CONTRACTOR's files will be updated by written notice any time that additional employees work on projects for the CITY.
- 3. The CONTRACTOR will have its contractors, subcontractors, suppliers and vendors who are involved in projects for the CITY to sign a written acknowledgment that they too are in compliance with immigration law. It is understood that failure to do so could result in the CONTRACTOR being liable for any violation of the law by such third parties.
- 4. The CONTRACTOR will fully cooperate with and have its contractors, subcontractors, suppliers and vendors to fully cooperate with, all inquiries and investigations conducted by any governmental agency in connection with proper compliance with the laws pertaining to appropriate work authorization in the United States.
- 5. The undersigned, on behalf of the CONTRACTOR, acknowledges that this Certification may be relied upon by the CITY, its officers, directors, employees, and affiliates or related persons and entities.
- 6. If it is found that the CONTRACTOR has not complied with the laws pertaining to proper employment authorization, and any legal and administrative action ensues against the CITY, the CONTRACTOR will indemnify, defend and hold the CITY harmless along with their officers, directors, employees, and affiliated or related persons and entities.
- 7. The CONTRACTOR acknowledges that the CITY by their authorized representatives shall have the right, at any time, upon 24 hours notice, to examine the CONTRACTOR's books and records to confirm that the CONTRACTOR is in compliance with the terms of this certification.

Executed this 23"

_ day of

. 2014.

ACKNOWLEDGMENT

STATE OF Florida	
COUNTY OF Hillsborough	724 May
SWORN TO AND SUBSCRIBED before m	e this <u>35</u> day of <u>1107</u> , 2014.
The Affiant, Gregory Shutel, is	personally known to me or [] has produced
as identification, which is cu	urrent or has been issued within the past five
years and bears a serial number of other identifyin	g number.
	Print Name: MCDOWELL Print Name: MOTARY PUBLIC - STATE OFFONIOLO Commission Number: FF006024
	My Commission Expires: 4/8/17
	(Notary Seal) Kevin McDowell NOTARY PUBLIC STATE OF FLORIDA Comm# FF006024 Expires 4/8/2017

ADDENDUM

City of Naples

Bid Description: Potable Well Acidization, Well Abandonment & Monitoring Well Construction

Bid No.:

RFP 14-029

Clerk Tracking No. <u>/4-000 78</u>

This Addendum is to the Agreement between the **City of Naples** (City) and **A.C. Schultes of Florida, Incorporated** (Contractor) for Contractual Services in connection with the Award of multiple contracts for the above-described Project.

Contractor acknowledges and agrees that the Award of this Contract is authorized by the Bid Documents, that the Award is to three Contractors, and that the actual Scope of Services for each will be determined by the City through its staff and Project Consultant.

The City will be liable to Contractor only for such services and commodities or equipment as may be further authorized by the City in a Notice to Proceed or similar document.

This Addendum is part of the Agreement and it supersedes any provision to the contrary

in the Agreement or any Bid Document.

Date:

Date:

6/12/14

Contractor

City Manager

Approved as to form and legality

C. A.

Gregory Sixth Hes, Vice President

Attest:

Jessica R. Rosanham Deputy City Clar

8336357 _1 016763.0001 - 6/1/2014 5:49:53 PM